
Задача 1

                               В

             К            5 см          L               Найти: PАВС

             4 cм            6 см

А                           М                          С



Задача 2

               В       3 см     С         ABCD - трапеция
                                           AK=KB
                                           KP//AD
       К            R                   P      Найти: KR,                    
                                                       RP,
                                                        KP
A                7 cм                          D



Задача 3
Определите 

расстояние от лодки, 
находящейся в русле 
неширокой реки, до 
лодочной станции, 
используя свойство 
средней линии 
треугольника 
(измерения можно 
производить только 
на земле)
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